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P
TE prger WA+ AR
(a) O

(b) T AT

(c) BRI WOTHE

(d) 3R p, g, r T E W T
HeH]] S cHS

2. of% (a—b)b—-c)Xc—a)=2 3
g b e
a B2
a ¥

abe=6 %, @ w WA

R
(a) 3

(b} 12
{c) 14

(d) 15
3. Frafufem # & fm ofiedt & anfm

a b e
b ca
e a b

AR T e R

l.a+b+ew(

2. &+ +8=3abe

Y+ P+ —ab-be—ca=10
A far Mo W o w W o
b L

(a) aer | i 2

(b) Faw 2 3k 3

(c) Faw 1 &3

(d 1,78k 3
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4. ARt A=[m n], B=[-n -m] IR
c=[_ﬂ % W & Pt w
ﬁ"lﬁﬁﬁ‘m;:

1. CA=CB
2. AC=BC

L OA+B)=CA+CB

I # A WS wE-E T '
28

(a) *=7 1

(b) &= 2

() 23R 3

(d) 132

25in@ cosf O
5. afg .-a‘=|t—2cusﬂ sind n] g @

= P
Aladid) Torms == £ 7
(a) A AR

(b) -1

{c) {

() 21

WEl | U deed aEE f

6. & % fra 7w & fam e

2eos2®  2eos28 6
1-25in°8 2cos’@=1 3
k 2k 1
Foqig &
(a) &= 0
(b) F9 |
(c) ¥=d 2
(d) fdt i amafas am



LIfA =

1711
r grp
P repq
where p2g=r, then A + A, is

(a) 0O

(b) always positive

(c) always negative

(d) positive if p, g, r are positive else
negative

q

1
|

b T T~ |

L. If (@ — bYb ~c)ec—a)=2 and abe =6,
then what is the value of

a8 b €
a Bt
a ¥ e
(a) 3
(b) 12
(c) 14
{d) 15

T

3. Under which of the following condi-

tions does the determinant
a b e

bca
e a b

vanish 7

l.Latbte=0
2. a + B+ = Jabe
L.+ +d-ab—-bc—ca=10

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and3

4. Consider the following in respect of
the matrices :

A=[m n], B=[-n —m] mc=[_’i|

1. CA=CEH
2. AC=8C
LA+ B\=CA+CB

Which of the above statements is/are
correct 7

(a) 1 only
(b) 2 only
(c) 2and3
(d) 1and?2

-1 L.
what is A{adjd) equal to 7
(a) Null matrix
by -1
(cy 1
(dy 21
where [ is the identity matrix.

2sinf  cosf 0
S5.If A=|-2cosf@ sm@ 0|, then

6. For what value of k& is the matnx

2c08280 2cos28 6
1-2sin’8 2cos’8-1 3
k 2k 1

singular ?
(a) 0O only
(b) 1 only
() 2 only

(d) Any real value
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7. WA Wit 4 0% =eein aee @
R Beadid ¥ Frafafen & &

FA-H/ - T w2/ 7

l. AB = BA

2. AB w% afgw ameqe 2

3. AR IS Y SR B He #
A fow M g = W oW I
Hfm
(a) w=a
(b) & 1 #T 2
(c) a2
(d) 1,2 4% 3

TR i F oo gt 4 AR B W
oy # feafafam =t w e
Fifire .

1. afé AB v g smege B, A A4 ok
B# & #A-§-w0 W U 49
A #

2. aft AR UF ooawe e ®, G
BA=AB R

T A A FW-E S ER-E e el
2/E 7

(a) A |

(b) % 2

(c) 12

(d) Ad 1,982

afe 4, wife 3 W uF aEmE wEE
t R B o ofwd @ wEp
C=A+B & ariis = wm +0 7
(a) 1
(b) 2
(c) 4
(d 8
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10. 7 #iftm 4 3 B owm w2 & =

11

12.

ST AR 56 WER £ i A8 = 4
W Ba=p ¥ Feafafem & 3

wA-a/F - wae wd R/
1, A2=4
2. AB*= A
# fm g W= wEm o wd e
‘EF"‘I'II:
(a) Fa9
(b) a2
(c} 13 22
(d) AT, 782

.(H%—)Tl-%)gis wR § fes w

£ 7

(a) 9
(b) 10
e} 19

(d) 20

L:+}r}ma7m'&ﬁiﬂ'ﬁﬁ'ﬁlﬁﬁﬂ

'ﬁﬂﬁ“ﬁqﬂﬁm

LW ETR R A aeTm H
TS T OAE sftwan §

2. #t wz = o, o7 W % e
F e #

T # § A/ T e

74 &4

(a) e 1

(b) e 2

(c) 1322t

(d) ad1,7d@2



7. Let A be a non-singular matrix and 10. Let A and B be non-singular matrices

B=adid. Which of the following of the same order such that AR =4 and
staternents is/are correct ? BA=B. Which of the following
1. AB = BA statements is/are correct 7

1. A*=A

2. AR is a scalar matrix

- S
3. AB can be a null matrix 2. AB*=A"B

Select the correct amswer using the Sclect the correct answer using the

code given below : code given below :
(a) 1 only () 1 only
(b) 1 and 2 only (b) 2 only
(c) 2 only {c) Both | and 2
{d) 1,2and3 {d) Meither 1 nor 2
8. Consider the following statements in 11. How many terms are there in the
respect of squarc matrices 4 and B of _ . 2
same order : El;mﬁlﬂﬂﬂf[l+EJ [I'E) 1
1. If AR is a null matrix, then at least 9
one of A and & is a null matrix. (a)
2. 1f AB is an identity matrix, then (b) 10
BA=AR. {c) 19
Which of the above statements is/are (d) 20
correct 7
(a) 1 only 12. Consider the following siatements in
() 2 ot respect of the expansion of (x +3)'":
5 1. Among all the coefficients of the
{2) Botb 1 apc.d terms, the coefficient of the 6th
(d) Neither | nor 2 term has the highest value
: e , 2. The cocfficient of the 3rd term is
9. 1f A mlhn:ldenm}‘mam::funliﬁj equal to coefficient of the 9th term
and B is its transpose, then what is the
value of the determinant of the matrix Which of the above statements 1s/are
C=A+B? correct 7
{a) 1 (a) 1 only
(b) 2 (b) 2 only
(c) 4 (c) Both 1 and 2
(d) 8 (d) Neither 1 nor 2

5 A - SDFR-5-HTM



13. 3f% C(3n, 20)=C(3n, 2n—7) &, &
Cln, n—5)™ WA &1 & 7

(a) 42
(b) 35
(c) 28

(d) 21

14. C(51, 21) - C(51, 22) + C(51, 23) -

C(51, 24) + C(51, 25) - C(51, 26) +
C(51, 27) - (51, 28) + C(51, 29) -
C(51,30) | 7w T & 7

(a) €51, 2%5)

(b) €(51,27)

{c) C[51,51)—C(51,0)

(d) C(51,25)-C(51,27)

15. 300 51 400 % o= #, tef foerdt fam

wort & fem @ W 9% g
7l e w7

(a) 32
(b) 36
{c) 40

(d) 45

16. =5 °TIGER' & 357 & o femt

W § ot = an wel w oW oaA
-
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17.

19.

(a) T2
() 36
(c) 18
(d) 12

" ﬂ"rﬁff{ @ HR B, Luicay
xitpx+g=0F g & | 7R o2 IR
B3, WHE 12+ e+ n= 0 & T E,
?ﬁm-l-n'ﬂﬂl‘r‘rmt?

(@) p'+q’+pq

(b) °+q —pyg

{c) pr'+g’+3pg

(d) pP’+q°-3pyg

aH #Hifwn o sk g, wdfeo
P-ar-be+ab-c=0% 9@ ¥ |

a% wA-a1 fgara el @ fords gm
a M HE 1

(@) P~ax-Bx+af+c=10
{h) f—ﬂx-ﬁx+aﬁ—c=ﬂ
() 2+ax+pfr+af+e=0
() 2+ax+ps+af-c=0

aft wltEm
f-ﬂx—hr—cx+bc+muﬂtliﬂ
wa ¥, @ Feafafas 4 8 of-m
LA

(@ a+bhb+c=0
by a-b+c=0
) a+b-c=0
(d) ~a+b+ec=0



13. If C(3n, 2n) = C(3n, 2a-7), then what (a) 72
is the velue of C{n, n—-35)7

(b) 36

(a) 42 (c) 18

(b) 35 d 12

(c) 28 17.Let @ and § be the roots of the
equation xX+px+g=0. If o’ and

(d 21 B* are the roots of the eguation
¥+ mx + n =10, then what is the value

14, What is the value of SRt

C(51, 21) - C(51, 22) + C(51, 23) - T

(51, 24) + €(51, 25) - C(51, 26) + &) FYe

C(51, 27) - C(51, 28) + C(51, 29) - ®) P +q~pyg

51,30) ?

a ) (c) pP+g*+3pyg

(a) C(51,23) d pPP+¢-3pq

®) 51,27 Iﬂ.mizmdﬁhtﬂr:mnuufﬂmaqua-
tion x2 - ax — br + ab—c=0. What is

() 1 Q31L31)=C1.0) the quadratic equation Whose roots are
aand b7

(d) C(51,25)-0C(51,27)
(a) P-ax—-PBx+af+c=0

15. How many odd numbers between 300 (b) xi—m“ﬂ.'l"l"ﬂﬂ—c:ﬂ
and 400 are there in which none of the
digits is repeated 7 (¢) 2+ax+fx+af+e=0
(a) 32 {(d) Iz+ﬂl+ﬂ.#+ﬂﬂrﬂ=ﬂ'
(b} 36 19, If the roots of the eguation
M-—gx-—br—ex+be+ea=0
{c) 40 are equal, then which one of the

following -is correct ?
() 45 (a) a+b+ec=0

16. How many permutations are there of (B} a=b+ec=1

the letiers of the word ‘TIGER" in © a+b-ec=0
which the vowels should not occupy
the even positions 7 (dy —a+b+e=10
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20. 9/ Wit a R g (a> @), wetEm

1.

13,

P_Sx+g=0F|E
afg a2 f2= 16 %, 91 g W W T
27

(a) =15
(k) -10
(c) 10
(d) 15
n ® G aftrem wm own R, s

form (301 + 351, 5° & fomrea }, sl a
Ayl wer # o

{a) 4
(b) 6
(e} 7

(d) &

2L 2{2=] )+ 3(I=2x] )+ 4(4=322x])+

] B BB 3 I R
N9=BxTxbx5x4x3=x2x1)+2 AW
Lo &

(a) 11!
(b) 10!

{c) 10+100

(d) 11+100

afs A=, 2, M N A F um

g (WiEe @) d@ feen s
Bfit #
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{a) 1
(b) 2
(c) 4
(d) 8

24, 315 g, b, ¢ TR Aoft (GP) F ¥, v

a>0,b>0c>0% o Fefafer &
#R-A wh g7

1. a?, b2, ¢ Tvirer ot (GP) ¥ €
2 4, 3+ & MR it (Gp) ¥ §

3. a, +/b, Je ToiveR it (Gp) # §

At fn m g W oW W ad I
af « :

(a) Fa= 1 # 2
(b) @ae 2 #i 3
(c) @+ 1 3 3
@ 1,233

25, ofy ﬂ;b, b, Ltc wowm Aft (Hp)

2
A %, Feafefas § & S9-w a8
g7
(a) a, b, c BWTER A0t (AP) H §
(b) a, b, e TR W00 (GP) A ¥

(¢) at+b, btc, c+a ToEC Aol
(Gp) % &

(d) a+b, b+e, c+aaamat 5off (AP)
C8



20. Let @ and B (a> ) be the mools (a) 1
of the equation x* — 8x + g = 0. If

~ A% = 16, then what is the value (b) 2
of g7
(c) 4
(a) =15
(d) 8
(b) -~10
24. Ifa, b, c are in GP where a >0, b> 0,
(=) 10 ¢>0, then which of the following

(dy 15 = ?

1. a%, b2, c? are in GP
21. What ig the maximum value of 7 such

that 5" divides (30! + 35!), where n is & ! S

natural mumber 7 g e MROR

@) 4 3. +Ja, /b, +c are in GP

{b) 6 Select the comect answer using the
code given below :

e} 7
{a) 1and 2 only

(d) 8
(b) 2 and 3 only

22. What is the value of (c) 1 and 3 only

22x1)+3(3x2=1)+4(4x3x2=1)+

S{5x4x3x2xl)+, Y A (d) 1,2 and3

9{9n3n7xﬁn5x4x3u:nu+z ?

(a) 1! 25.1f ﬂ;b‘ b, b;f are in HP,
correct 7

{c) 10+10!

(a) a, b, ¢ are in AP

d) 11+10
= (b) a, b, c are in GP
23.If A={{1, 2, 3}}, then how many {c) a+b, b+e, c+aarein GP
elements are there in the power set
of 47 (d) a+b, b+e, c+aarein AP

9 A — SDFR-5-HTM



26. cot?15° + fan?15° & | W § 7
(a) 12
(b) 14

(c) B3
(d) 4

27. v Prw ABC #,
sind —cosB —cosC=0 % |
wi B fead s £ 7

@® %

(b)

EAE

(c)

Lad | 34

(d)

T

28. 7 a+ f= § R 2ana =1,
At tan2p frad o # 7

Lad| =

(a)

(k)

L b

{c)

B L

L | Lad

(d)

SDFR-S5-HTM - A

10

29, 7% tan(45°+ @) = 1 +sin20 &, ot

31.

--’}{Eﬂ% £, o1 cos26 = WE W

L
(a) 0

P f

(b)

e} 1
(d) 2

. A HIF sin26= cos16, TEl @ T

AH R | T 1+ 4sind W OAE T
27

(agﬁmw%ﬁssinmﬂ-ﬁ;—']
(@) 3

(b) 2

(c) 5

(d 3

ﬂ'&lﬁﬂﬂﬂ-%t-?ﬂshﬂ w1 WE W=
B oA R 7

@ 73 FF - @ w

®) -, fg 5w @ w

() %m—%
(d) =7 % & #rf Tt



26. What is value of cot’15° + tan?15° ? 29, If tan(45°+ @) = 1 +sin2@, where
_%{5{%.MMEMvﬂutﬂf

(a) 12
cos28 7
(b) 14
(a) 0
(c) 83 l
) 4 ® 5
{c) 1
27. In & triangle ABC,
sind —cosB—cosC=0. (d 2
What is angle B equal to 7
- 30. Let sin26=cos3f, where @ 15 acule
(@ % angle. What is the value of 1 +4sin8 7
(given that sint 3= Y3-1)
n
(b} 4
(a) 3
T
(c) 3 ®) 2
@ 7 () +5
(d) 3

28. If @+ =7 and 2tana = 1, then what :
31. If tan@=~-=, then what can be the

is tan2f equal to ? ? 12°
value of sind 7

1
(@) 3
; (a) 15—3 but cannot be —15—3
® % . -
(k) 1a but cannot be 13
3
&) 7
E (c) % ar --—I-ji
3
@ 3 (d) None of the above

11 A - SDFR-5-HTM



32, m;‘TTﬂ_Hm-l%mm“t? Js.ﬁﬁﬁﬂwmmugw
et 0 W WA & W W TR @

W:ﬁﬁﬁﬁ!ﬁlﬁ'ﬁﬂ'%lqﬁm

3
(a) 5 £ T e e B, W Pl #
FT-H WE R 7
® 3
4 (a) 0<@<3p
© % (b) 30° < B < 45°
(c) 45° < 8 < 60°
@ =
(d) 60° < @ < 90°
3. sin’( £+6)~sin’( £ -0) 36.7% (1) (2) =2 ¢, e
T = 2 7 . S
' D<x<6®, o x oo s £ 7
(a) sin2@ (a) 1
(b) cos28 b) 2
{c) 2s5n@ ) 3
L
(d) 2cos@
{d) 5

M. 05 FEAMR TR S fim weea
a1 # 3N e T b W W T 37. af¥ 3sin 'y + cos e = n B, A ;- FrES
eyers FATE w9 # | e & R Lt o
g W mwee & o ok ofid &

THEE FM OFE: O 20 ¥ | TR o
FFE R g
(b} 5
{a) hcos@ :
- |
(b) Ahsing (c) E
(¢) hcos2@
1
(d) hsin28 @ 7
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32. What is the value of 35, The shadow of a tower becomes x

17x ST metre longer, when the angle of
MT"'MAT ? elevation of sun changes from 60° to &,

If the height of the tower is v3 x metre,

(a) & then which one of the following is
= comect 7
2 0< @< 3°
() 3 (a)
(b) 30° < 8 < 45°
(c) %
(c) 45° < 8 < 60°
@ % @ 60° <6< 90°
-1 1 o
33. What is sin3[§+5]—sin3[%—ﬂ) 36.1f tan '(E)ﬂm '(§J=_%_ el
equal to ? 0 < x < 6, then what is x equal to ?
(a) sin2f (a) 1
{c) 2sinf © 3
(d) 2cosf s
* :1;:“ ﬂ Tsfmmmu:“ h;m 37. If 3sin"'x + cos”'x = 7, then what is x
flagstaff of height A. At a point on the equal to 7
plane the angles of elevation of the
bottom and top of the flagstaff are (a) O
and 2@ respectively. What is the height
of the tower 7 ¥
) 35
(a) hcosf
- 1
{(b) hsin® (c) :'rf
(c) hcos2@ |
{d) hsin28 (d) :E’

13 A - SDFR-5-HTM



38. A% tana + tanfi = 1 - tanc.tanf &, et

tanatanf=1 ¥, @ Trafafes & @
FA-AT (a+f) F A H F T AW
8

(2)

-]

(b)

ENEY

(c)

| 5

£
2

(d)

LAl (1 +tenB)1 + tan0@) =2 B,
tan(106) 1 AW w1 § 7

@ 0
(b) 1
() 2

(d) 3= a

. 8in0° + 5in10” + §in20" + sin30° + ... +
sin360° S W W R 7

{a) -1

(b) O

(e) 1

(d) 2

SDFR-5-HTM - A
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41.

42,

e A={1, 2, 3, 4 F wh
e W faaw fifin | =3 @
form meea (4) % sfmge € 7
(a) 6
(b) 7
{c) B
(d) 9
T o Tl A AR B S wEw #
freafafm =t w= far fific .
l. xe{AUR) = xed 99T xg B
2. x€(ANB) = xeAd 5K x¢B
T # H A/ T we
#/8 0
(a) oaH 1
(b) a2
(c) 1322
(d) Ad 1,782

.1 I el 4 R B & dew #

Frafafira st w frar Fifio .

I, AUB=ANB afz IR Fa= ufe
A=8

2, AAB=p a2 d Faw afz 4= B
g # & F-T/HE-a e w
g/E7
(a) &a |
(b) Faw 2
(c) 13 22
(d) Ad 1,782



38. If tana +tanf=1—tana.tanfl, where

tanatanf# 1, then which of the
following is one of the values of
{a+f)?

T
(@) &

()

A

x| 3

(<)

2
2

(d)

39. If (1 + tan@M1 + tan9@) = 2, then what

is the value of tan(108) ?
(a) O
() 1
(c) 2

(d) Infinite

40. What is the value of

sin0® + sin10° + sin20° + sin30" + .. +
sin360° ?

(@) -1
(b) 0
(€ 1
(d) 2

15

41.

41.

Consider all the subsets of the set
A= {1,2,3,4). How many of them are
supersets of the set {4} 7

(a) 6

(b) 7

fc) 8

(d) 9

Consider the following siatements in

respect of two non-empty sets 4 and B ;
l. xg(AUB) = xed or xe b
2. xg{ANB) = x&A and xeB

Which of the above statements is/are
comrect 7

{a) 1 only

(b) 2 only

{c) Both 1 and 2
{d) Neither 1 nor 2

43, Consider the following statements in

respect of two non-empty sets 4 and B :
1. AUB=ANE iff A=8
2. AAB=piff A=E

Which of the above statements is/are
correct 7

() 1 only

(b) 2 only

(c) Both 1 and 2
{d) Meither 1 nor 2

A - SDFR-5-HTM



4.9 2-55+42=0 2 N Ry T
vt @l W & wrewn WA
waY R & W1 A Feafafen st w
farm o .

1. R = R
2. R i #

3. R 9FHE B

IE # A FIH-W /IR T
®/8 7

(a) a1
(b) A 2
(c) am 1 oK 2
(d 1,233
45, foelt oo A w fmh B = R &
o frfirfas et w faw Hifim .
1. #fs Regen &, & R ot =g @

2. afy g vt €, @ g1 5 wwbim
t

3.0fc B wems #, @ R OW
GEQUETE

I § B Fh-w /- w we

t/E 7

(a) F== 1 &2

(b) ¥R 23R 3

(c) Waa | &3

(d 1,2 373

SDFR-5-HTM - A
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6. - = wm Swim w2, Wl

1+i
i=-1%7

(a) -{Tﬁ
b %
(c)

(d)

sl R

2

47, [E_%Jm w AWiE (i)

(a)

(b)
()
a2

48, freafafen =9t w f=w Hifo .

1 2 6% fawrn #, wel >3 8

2. ;—:u,?%ﬁmwtﬁmhﬂ!

I A B WA/ EN-R T e
2R

(a) ¥ 1

(b) &= 2

(c) 13t 231

(d) Ad 1,762



44. Consider the following statements in

45,

respect of the relation R in the set IN
of natural numbers defined by xRy if
-5y +42=0:

1. R is reflexive
2. R is symmetric
3. R is transitive

Which of the above stalements is/are
comrect 7

{(a) 1 only

(b) 2 only

{c) 1 and 2 only

(d) 1,2 and 3

Consider the following statements in
respect of any relation R on a set A :

1. If R is reflexive, then B~ is also
reflexive

2. If R is symmetric, then B! is also
symmetric

3. If R is transitive, then B! is also
transitive

Which of the above statements are
correct 7

{a) 1 and 2 only
(b} 2 and 3 only
{¢) 1 and 3 only

(d) 1,2 and 3

17

1

46, What is the principal argument of 1+

where i =+/-1 7

@ -2

(b)

|
=y

e

()

(d)

et

47. What is the modulus of

(29

T

(2}

(b)
(e 1
@ 2**

] —

48. Consider the following statements :

1. B is divisible by 6, where >3

2l

n>3

Which aof the above statemenis is/are
correct 7

is divisible by 7, where

(a) 1 only

(b) 2 only

ic) Both 1 and 2
{d) Neither 1 nor 2

A - SDFR-5-HTM



49. 9 faenfaat # A 5 famfiat €t o Zm 52, aft st wwiee Anft (AP) w1 5T wg
forem it & ol ot @ fs S 1 ]
foim foflt @ dm A w10 € O R 10T W g b e

T 7 50 W1 w1 dATER W1 B 7
(@) 14 (a) 25
{0):21 () 255
(c) 35 © 26
(d) 42
(d) 265

e ;
s [”3} ¥ RRY, 4N ow W S3. (1110011), + (10111), FFa®  =oae
(a+ 1)V T Fm BW (W W 2 F 3

s wEt # =atem §)

(a) (101)
(a) C(2n, m)x
(b) C(2n, n-1)x (b) (1001);
(¢) Ci2n, m) () (111)
(d) C2n, n—1) (d) (1011);

51, af; fomft T Aot (AP) 3 w9 54. 32 34 7 = (100010111 ), 3 x4y =

T W OGEEA, THE W 1] w6 % iy € @ a-y+xn fms
AT F =5 ®, 7 WE WEW 20 ae # 7
o W A o
(a) (1101}
{a) 20
®) 10 (b) (1001),
© 2 (c) (1011)
(d) 0 (@ (1111}

SDFR-5-HTM - A 18



49. In how many ways can a team of 3

£0. In the expansion of [1+ %)

51.

players be selected out of 9 players so
as to exclude two particular players ?

(a) 14
(b) 21
(c) 35

(d) 42

in
, what is

the (n + 1)th term from the end (when
arranged in descending powers of x) 7

{a) C(2m, n)x
(b) C(2n, m—1)x
(c) C2n, n)

{d} ﬂzﬂt "= ”

If the sum of the first 9 terms of an AP
is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms 7

{a) 20
(by 10
() 2

(d 0

19

52, If the 5™ term of an AP is ~= and its

10
lﬂ'hmis%.thnﬂwhﬂiiﬂmﬂmuf
first 50 terms ?

(a) 25

(b) 255

(c) 26

(d) 265

53, What is (1110011}, + (10111); equal

to 7

(a) (101)

(b) (1001}

{c) (111}

(d) (1011}

&4, If x¥+p*=(100010111), and x+y=

(11111),, then what is (x—y) +xy
equal to ?

{a) (1101):
(b) (1001),
() (1011)

(d (1111}
A - SDFR-S-HTM



55, sAAfTRTHA|

Sx—dy+12<0,x+y<2, x<0 K
y >0 far §ifim | feffm a9
- g wifm dm F 2 7

(a) (0, 0)

[h'} [—.'I. 4}
(c) (-1, 4)

56. T y=[x], xe(-1,1) ¥ way H

ffafias =t w fer $ifo, =
[.] 7eow quiE W R

1. x=05 W 50 saTas o &
2. 98 x=0-5 T #aa &

IE H A -/ HR-R T A
174

(@) F391
(b) Haa 2

(c) 1322
(d) a1, 7d2

57, FAFS  gHiEIn ]+[%]z =[ﬂ]
& T W f 7

(a)

(b)
(c)
(d)

B WM s

SDFR-5-HTM - A

58. w5 el wed & ww ¥ &

a8 werd # fowmm wen ¥ g
# 1 aR s uged 100 Wt W oem

e f, @ mm fAwE (sl
fers) = ¢ 7

&S

(a)

a
(s

(b)

8l

-
=

(c)

g

LA f(x)=41—(x—1)7 T WA w=

£

(a) (0, 1)
(b} [-1, 1]
(€ (0, 2)
(d) [0, 2]

LT gk R mE Al

(Fem tew) T wimg o9 = dEwe
249 ok B, Wl k> 0% | kT AR
&7

() 1
by 2

. ey 3

(d) 4



55. Consider the incquations
Sx-4p+12<0,x+y<2 x<0 and
y>0. Which onc of the following
points lies in the common region 7

(a) (0, 0)
(b) (=2, 4)
(€) (-1, 4)
(@ 1,2)
56, Consider the following statements
in respect of the function y=[x],

xe({-1,1) where [.] is the greatest
integer function

1. Its derivative is 0 at x=10-5
2. It is conmtinuous at x=10

Which of the above statements is/are
correct 7

(a) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Weither 1 nor 2

§7. What is the degree of the differential

4
i 2 1
equation |+[%] =[%] 7

(a)

fc)

.
3
(b) 2
3
(d) 4

21

58, A radioactive substance decays at a
rate proportional to the amount of
substance present. If half of the
substance decays in 100 years, then
what is the decay constant (propor-
tignality constant) ?

W 52

(b) In3

8|

—
]

—_—
=

|

© 5

S

2in2
100

(d)

59. What 15 the domain of the function
f@=A1-(=11 ?
(a) (0, 1)
® 1]
© (0,2)
(d) [0, 2]

60. The area of the region bounded by
the parabola % = 4kx, where k > 0 and

its latus rectum is 24 square umnits,
What is the value of k7

(a) 1
(b) 2
(e} 3
(d) 4

A - SDFR-5-HTM



EI‘J-“% - dr mmt? 64. Iidrﬁ?ﬁim%?
{sinx

:mx'}l -3 1
(a) -2
® -1 (b) -1
(€ 1
®) 3 @ 2
© 1 65. sindx + 2x & foeon womm /8, wei
l=x= % t 7
@ 3 @) 1
(k) 2
62. [(sinx) " (cosx) ™ ax T W s

66. T [(X) = ——te T R

(a) +anx+e tanx +cotx
ﬂ'ﬁﬂT%,i’E‘Tﬂ{.rﬁ%E?
(b) 2+tanx +e
@ 1
(©) ~oolx +¢ $
® 1
(d) v2tanx+¢ 2
{c) 1
w [ = (dy 2
6. %R 4 J.e"+¢" oK. .[el‘-r-I
gan+nfms g 7 67. afy
’ 405 (3)~(2=+3)(2x-3) &
o gre i r(2) e soac & 7
(b) x+e (2) 0
(b) 1
(¢) In{e"+e)+c & 2
(d) ln(e"=—e")+e (d) 4

SDFR-5-HTM - A 21



(sinx
(a) -2
@ -1 B =
(c) 1
® 1 ot
65. How many extreme values does
(c) 1 sindr + 2x, whm‘eﬂ{xc%- have 7
3 (a) 1
d L
d 3 ) 2
fc) 4
62. What is [ (sinx)™*(cosx) ™" dr equal (d) 8
w?
66. What is the maximum value of the
(a) anx+c function f(x) = oo
<X
(b) 2+tanx +c¢ 0 2?
(c) ~ecotx +c ® 1_11
(d) ~2tanx +¢ (b) %
(€ 1
e dx o
63, If fl=‘[_"'“‘e:+€-: and 7, j..s_»”‘ﬂ’ (d) 2
ﬂlﬂ.‘l“"llﬂ'li!f:"‘!j -ﬂql.ﬂ“ﬁﬂ'? 67 If
A L 1
s )
2 then what is f(2) equal 10 ?
®) x+e il
b) 1
(c) In(e*+eN)+c (©) 2
(d) Im(e*=eM+c (d) 4

23 A — SDFR-5-HTM



68. T f(x) = 4x + 3R, A fofef(-1) firm
aE R 7

(a) -1
(b) 0
(c) 1
(d 2

69. 7R =18 (1, 1) ® %ﬁmﬂa
o t 7
(a) -1
(b) O
© 1
(d) 4

7030 y= (PR Tr=1% g_iiﬂﬂ'lﬂ
R
@ 3
(b} 1
{c) 2
(d) 4
1. A W =[x + 1], -4 <x <3, 7

[.]¥eaA gt A & | r=-3.5 W x
& TOY H oy FEEEA w7

(a) -4
() -3:5
{c) -3
(d) 0

SDFR-S5-HTM - A

24

7298 L < (tnS)y, 5 3(0) = a5 ¥, B
(1) fovrs o & 7
@ 0
®) 3
(e} 2in5
{(d) Sin5

LER f) =100 F Fag # Feafafis
W far $ifiw .
1. FHH AR (0, ) ¥
2. T® UE o A ¢
3. g x =09 Hawad §
I A W AN e e §
(a) F=w 132
(b) Fam 23k 3
(c) ¥Faa | #ka
(d) 1,233

74. _f'_'f‘ﬂ % (cosecx)? s ST # 7
{a) 0

1
®) 2

(e 1
(dy ®m w wfewr a8 §

oo g ]
lim <=
7s. lim “_Iﬁmﬁimﬁ?

{a) O
(b) 3
(c) 6

(d) e = e a8



68. If fi(x) = 4x + 3, then what is f=f=f(-1)

equal to?
(ay -1
(b) 0
) 1
(d) 2

69. If x¥y* = 1, then what is % at (1, 1)

equal to ?
(@ -1
®) 0
(e) 1
(d) 4

T0. If y=(x")", then what is the value of

.

%ﬂl.l.':l?

(2)

Eulf e

(b) 1

{¢) 2

(d) 4

Let y=[x+ 1], ~4<x<-3 where [.]
is the greatest integer function. What
is the derivative of y with respect to x
at x=-3-57

(a) —4

(b) -3-3

{c) -3

(dy 0

2.1 %-{mh— with »(0) =I5, then

what 5 (1) equal to ?
(a) O

() 5

{c) 2inS

(d) 5in5

73. Consider the following in respect of

the function f{x)= 10" :
1. Its domain is (-, m)
2. It is a continuous function
3. It is differentiable at x =10

Which of the above statements are
correct 7

(a) 1 and 2 only
(b) 2 and 3 only
{c) 1 and 3 only
() 1,2and3

74. Wisﬂf{cmzfaqmlm?

(@) 0
(b)

fe) 1
{d) Limit does not exist

bdfe=

75, What is lim %=L equal to?
:—rh_J'xdl "

(a) 0
(b) 3
{c) 6
(d) Limit does not cxist

A - SDFR-S-HTM



7. Freffm & & e o & v

%+&+5mt?

fm-’;—’—
(8) ¥ (—=, 1)
() (1,6)

(c) ¥ (6, w)

(d) (-eo, 1)U (6,=0)

77,90 x=2 W T f(x)=L+2nx+1
W WA 2 R, T om+ 8 W WA
e

(#) -2
k) 0
{c) 2

(d) vt T () & wrw fifa
st fom =

M. y=x I y=o>% 99 #, wA

watn # wndfim # oW dew
g7

{a) %—ﬂmﬁ
®) 1+ wf

(@ 3 v

(dy 1 = ==

SDFR-5-HTM - A

79.

afs xy=4225 ¥, el x R p Al
v &, 1 x+y W GEEw wW oW

=

81.

41.

(a) 130
(b) 260
(c) 2113
(d) 4226

aﬁm:%uzy-nwﬁﬁﬁﬂm
R

(a) U W W-FH

(b) TH F-F

(c) W WEEE-HE

(d) o= Frdga-ga

afe fens (-5, 0), (507, 10p) K
(5¢°, 10q) =i fag widta &, & pg =
Hﬁﬂt_ﬂlﬁp:q B

(@) -2
(b) -1
fc} 1
d 2

0 ' W e o g
(1, =2) & Tacdt ® sl st o o
e AT 7
(a) x+y—1=0
() x-y-1=0

c) x+y+]={

{d) x-y-2=0



76. In which one of the following intervals

i 2
istheﬁm:ﬁnnf{:]-‘:?-% +6x+5

decreasing ?

(@) (-, 1) only
(b) (1, 6)

(c) (6, =) only

(d) (=, 1) U (8, =)

.If the derivative of the function
f{x1=$+2m+l vanishes at x =2,
then what is the value of m+8a 7

(a) -2
(b) O
(c) 2

(d) Cannot be determined due to
insufficient data

78. What is the area included in the first

quadrant between the curves y = x and
y=x7?

(a) g square unit
(b) 3 Square it

(e) 3 square unit

(d) 1 squarc unit

9.

Bl.

82.

If xy=4225 where x, y are natural
numbers, then what is the minimum
value of x+y 7

(a) 130
(b) 260
{c} 2113
(d) 4226

.Wha:&nuth:mﬁmz%-ly-ﬂ

represent 7

{a) A family of straight lines

(b) A family of circles

(c) A family of parabolas

(d) A family of ellipses

Ifthe points with coordinates (-5, 0),

(5¢%, 10p) and (5¢%, 10g) are collinear,
then what is the value of pg where

peq?
(a) -2
(b) -1
e 1
(d) 2
What is the equation of the straight line
which passes through the point (1, -2)
and cuts off equal intercepts from the

axes 7

{a) z+y-1=0
b)) x—y-1=0
fe) x+y+1=0
(d) x—-y-2=0

A — SDFR-5-HTM



83.99 99 W wARw W R oA owaw

sty # 56T st SRty -2 =09
w7ef T & 7

() 2+ --2y-1=0
(b) 2+ +2x+2y+1=0
©) P+ =-2x-2y+1=0

(@) P2+ -dx-dy+4=0

84, 7% (=3, 0) A e x-3=0 "W

WAEY W gHiE R 7

(8) »*=3x
by =12y
(e} ¥=12x

{d) y=-12¢

85, ardgw 12+ 2=1 8 wig &

Higiad?
(a) 1

(®) 2
(c) 2

(d 242

SDFR-S-HTM - A

86. 7 it foedt P aBC §it wonait

87.

BC, CA 3% 4B & Havgal w9 a, b
st e ® | af pya Prw w0 aftem s
g e #, W

pm—za}m[g}ﬂﬁ%mt?
(a) g

(b) 2q

(c) 3g

(d) 4¢

TH T W x+y+2=0 #X

2z - 3y -3 = 0% whrsg farg & ot
o 9 st # e FoE

T # | FEEvE & e At
T TR 7 :

(a) 2

(b) 3
(c) 4

(d) 6

o witt & snfim am

axtby+e=0Mbx+ay+c=0
AR (a=0,b=0) §7

(a) ¥R a-b=0
(b) A a+h=0
(€) &-b=0

(d) ab+1=0



83. What is the equation of the circle 86. Let a, b, ¢ be the lengths of sides BC,

which touches both the axes in the first CA, AB respectively of a mangle ABC.
quadrant and the line y-2=07 If p is the perimeter and g is the arca
of the triangle, then what is
(@) A+yi-2x-2y-1=0 p{_p-:n]m[%] equal to ?
(b) P +y + 242y +1=0 @ ¢
(b) 29
(€) P+ -u-2y+1=0
(e} 34
d) P+ —dx—dy+4=0
(@ »*+)y y @ 4
84. What is the equation of the para- 87. A straight line passes through the
bola with focus (-3, 0) and directrix point of intersection of x+ 2y +2=10
x-3=07 and 2x— 3y — 3 = 0. It cuts equal inter-

cepts in the fourth quadrant. What is

(a) p%=3x the sum of the absolute values of the
intercepts 7
ﬂ!} r’--rlz_v {H} 2
(c) yi=12 (b) 3
{c) 4
(d) y*=—12x
(dy 6
#5. What is the distance between the foci ! ;
of the ellipse 22 +2y2=17 ﬂ.Und-:Lrl which unelnf the following
conditions are the lines ar + by +c =10
and bx + ay + ¢ = ) parallel (a # 0,
(a) 1 b=0)7
(a) a-b=0 onl
(b) 2 } y
(b) a+b=0 only
(c) 2
(&) a-p=0

L]
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89. W1 x+y=p I FEwE I & = 92. 3R p7R & ¥ & wHEW R T 50
W W tanEE F nafay & figm W o Sl # 7
witem w1 ¥, (W p vm averfas

mt:l . (@) 0<p<03
() x-y=0 9 i ]
(b) x+y=0 ) 1<p<l15
{l:} I=yp=p {d} p = 15
(d) x+y=p
93, yEfag it TR ¥ Hg & qEw =
90. e fag (x, y) g (24, 0) 3 (0, 34) T o wi g7
BEER G "R W oa>0f W
Troafafon & 3 S-ar vl & 2 () x=y=z
(a) Zx-3y=10 (b) 2x=3y=4dz
(b) 3x-2y=0 (c) 6x=3y=dz
() 4x—6y+5a=0
(d) Gx=dy=3z
(d) 4x—6y—5a=10
A T (02) vt % Fom Frafafs = e

o wm 3) wet & fom Fefafem w S
T ifem . :

T Gx+hy+3z-12=0, W@ kao £, T AR wmw 2 iioy fimg
fduis el & w4, BAR CR WA (2,3,-6)8 TR R

? | mlag o 4, B, C & R TR TN @

T 242+ 22— Jy-dz=0 8 | 94, wHaw W fielt afieim & fog- s
T g7
91 kT AF W R 7
{a) <3, 2 1>
(a) 3
3, 6>
®) 4 ) <2,
() 6 (c) <6, 3, 2>
(d) 12 (d) <l1,2, 3
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¥9. What is the equation of the locus of the

mid-point of the line segment obtained
by cutting the line x +y=p, (where p
is a real number) by the coordinate
axes 7

(a8) x-=y=0
(b) x+y=0
) x=y=p
(d) x+y=p
90. If the point (x, y) is equidistant from
the points (2a, 0) and (0, 3a) where
a > {), then which one of the following
is correct 7
(a) 2x-3y=0
(b) 3x-2y=0
{c) 4dx—6By+5a=0
(d) 4x—6y—-5a=0
Consider the following for the next three
f03) ttems that follow :

The plane 6x + ky+ 32— 12 =0 where k = 0
meets the coordinate axes at 4, B and ©C
respectively. The equation of the sphere

passing through the origin and A, 8, C is
2P+ x-3y-4z=0,

91. What is the value of k7
(@) 3
(b) 4
€ 6
) 12

] |

92. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct 7
{a) D<p=<035
(b) 0-5<p=]|
c) l<p<15

(@ p=>13

93. What is the equation of the linc
through the origin and the centre of the
sphere 7
(8) x=y=z
(b) 2x=3p=4z
(c) Gr=3y=4r

(d) Gx=4y=3z

Consider the following for the next mve (02)
items that follow ;

Let the planc 11—I+E§E+§=I pass through

the point (2, 3, —6).

94. What are the direction ratios of a
normal to the plane ?

@ <3,2,1>
M) <2, 3, 6>
(c) <6,3,2>
(d) <1, 2, 3=
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95, 3% W wHaw g Fwmw @t w 98, Frfirfem =1 & few $ifie

A N HAEE T p, g AR r £,
?ﬁ[p+g+r]ﬁiﬂa¢mt? ],?&Wﬂ'ﬁwrmmﬂ

HEATHS
{a) 10
2. whew e, aftw deee W
(by 11 : N
12
2 3. ottt = wfen TEEm @l
(d) 13 e
96. 1% 4i + [ -3k #R pi +qf -2k v Eﬂ:f # -/ Al
mg‘r ?ﬁp#’:q%ﬂﬂﬂﬂﬁ
W R R 7 (a) *4 |
) 41 (b) et 2
BaEs o () e | a2
() %% (d 1,233
Ed}%.% 99w #Hifm 7, b WR T 9 @R
AT W TR E E axb=c 2 | T
97, af; foft Praw 4BC & Wit 4, B ot € Frafafaa =1 w far fifm .
W ey wfiw w4, B o 7 4 Lak 3 i ? Py € @ @
i G @ Prgw = ¥ww R, @ 4C i B
mmfh 29 G M p Pom g @ ¢
(a) E+§+? :ﬂﬁ?ﬁﬁt
{h} EI_I'.—.&—E _gf_g?
(a) =44 1
(c) .I‘.:r-!-:.‘]—Ea ®) et
< (c) 1325t
@ 4-20-2¢
3 (@ A, @2
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95. If p, g and r arc the intcrcepts made 98. Consider the following statements :
by the plane on the coordinate axes

respectively, then what is (p+g+r) 1. Dot product over vector addition
equal to ? iz distributive
10
®) 2. Cross product over vector addition
(b) 11 is distributive
12 -
() 3. Cross product of veclors is asso-
(d) 13 ciative
0. it #f+j—3.i and _;rf-r-q}-li & :in"hlch l:;fth-: above statements is/are
collinear vectors, then what are the :
possible wvalues of p and g respec-
tively ? Al ) Lonly
(a) 4,1 (b) 2 only
1,4
(®) {¢) 1 and 2 only
8 2
€ 35 (d) 1,2 and 3
@ % 2 S
3 5 99, Leta, b, ¢ hiﬁm&umdﬂﬂ\'ﬂclﬂfs
. ¢ such that @ b = ¢, Consider the fol-
97.1f @, b, ¢ are the position vectors of lowing statements
the vertices A, B, C respectively of a ]
triangle ABC and G is the centroid of l. @ isunique if b and ¢ are given
the triangle, then what is AG equal
to ? 2. 7 is unique if 7 and B are given
S
@ 4 h+ ¢
3 Which of the above statements is/are
40 cormect 7
2a-b-Tc
®) 3 fa) 1 only
o T R
b+c-2a (b) 2 only
o), e s
(c) Both 1 and 2
@ a-2b-2%
3 {d) Neither | nor 2
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m.manmz*mﬁ.ammg

101.

102.

R B [-Bl<2219R Tk B
Tt m w20 B, A Paffaa 09
#H-ar w7

{a) F99 D<sinf<1

(b) Faw -%-csmﬂ{%

(c) ¥ —1 <sinf<0

(d) -1<sinf<1
1,2,3,4, 50 # 9 3% TRf=ow w9 §
5 9 § iR 3 uw-gE @ on fem

T R | T Aw R mirw
T AR W S 6 0 Ay 7

1
(a) 10
(b)

(c)

whled LA

(d)

i s

TH W # W 39 (%) ¥ aaew

safe =% (vEaeehl wFE wn) A
s w2 | = % = e freen
o

(a) ¥ > wifErE > 9EEw
(b) W > WEE > WTfETE
(c) wifEEE > WA > TEAS
(d) FEAT > Wifeww > WEw
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103, 9 SATeS HEmit & wwor 368 | o

T YE HE W Wew 2,2, 4, 58, A
1 T R 7

(a) 4
(b) 5

€ 7

d) 9

104, T TR Fof1 (AP)F 50'aT 1 WA

wren o B Freem wm w49 wd
AR

(@) 50

(k) 51

(c) 100

(d) 102

105. 21, 34, 23, 39, 26, 37, 40, 20, 33,27 %

wren faaem T (W @ e m)
R

(a) 011
(b) 022
(c) 033

(d) 0-44



100. Let 7 and b be two unit vectors such

that [d-b|<2. If 26 is the angle
between @ and b, then which one of
the following is correct 7

(a) 0<sinf<1 only

(b) —% < sing < 3 only

(¢) -1 < sind < 0 only

(d) -1 <smf <1

101. Two digits out of 1, 2, 3, 4, 5 are

chosen at random and multiplied
together. What is the probability that
the last digit in the product appears
as 07

@

(b)

Ly |

LT

(e)

Lnf i

(d)

102. The frequency curve (assuming uni-

modal) corresponding to the data
obtained in an experiment is skewed to
the left. What conclusion can be drawn
from the curve 7

{a) Mean > Median > Mode

(b) Mean = Mode > Median

{¢) Median > Mean > Mode

(d} Mode > Median > Mean

103, The variance of five positive observa-

tions is 3-6. If four of the observations
are 2, 2, 4, 5 then what is the remaining
observation 7

(a) 4
(b) 5
c) 7

idy 9

104, What is the arithmetic mean of 50

terms of an AP with first term 4 and
common difference 4 7

{a) 30
(b) 51
(c) 100

(d) 102

105. What is the coefficient of mean devia-

tion of 21, 34, 23, 39, 26, 37, 40, 20,
33, 27 (taken from mean) ?

(a) 011
(b) 0-22
(e) 0-33

(d) 0-44



e Ao (03) v & o Freafafem w
firar =i .

100 9 % &% MY AW & TF THEA ¥, x,
X3, ... x, % Ta=ert @ dfisig 9w —20 sl
92 % % oi% M W A F e
Frgemt = e 9 1402 |
106, 7T =1 AT TR 7

(a) 91

(b) 96

(c) 98

(d) 99
107. 99 # § 3% 7, T WA & G &

Tt Sisiig o R 7

(a) O

(b) 10

(c) 20

(d} 40
108. 7f & & @ik M W W F wpe.

& fawat & deha 9w 180 &, @
A R 7

(a) 80
(b) 85
(c) 90
(d) 95
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saw e 03) st & fan Peafifa =
(%) = fiam fifao .

U A W 5] BT TR WM oNTEY A
(AP) 7 %, for wam g 4 & % o I
it

109, STHTER =7 9ren F § 7
(a) 67
(b) 71
() 75

(d) 79

110, wrarl i e s @ 7
{a) 795
(b) 79

(c) 785

(@ 77

11, Wi @ an m feeat w gees
R

(a) -1
() O
(c) 1

(dy 2



Consider the following for the next three
{03) items that follow

The algebraic sum of the deviations of a
et of values Xy, Xy Xy, .. X, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

106, What is the mean of the values ?
(a) 91
(b) 96
(c) 98

(d) 99

107. What is the algebraic sum of the
deviations of the same set of values
measured from 99 7
a) 0
(b) 10
{c) 20

(d) 40

108. If the algebraic sum of the deviations
of the same set of values measured
from y is 180, then what is the value
of »7
(a) BO
(b) B85
e} 90

(d) 95

Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

109. What is the mean of the marks 7
(a) 67
(b) 71
(c) 75

(d) 79

110, What is the median of the marks ?
(@) 795
(b) 79
(c) 785

d 77

111. What is the sum of the deviations
measured from the median ?

{a) -1
(b) 0
c) 1

(d 2

A - SDFR-5-HTM



s W (03) wet & fon Feafefee
e At () & fe 00 s € | T @
o wes § | T 8w W dm ol
w g

wrast | -t
* ww =t T
W
174 W 18 9
v
ITE
wH W 6 27
T
aw i ¢ aw wen € B e aies
W TSR T s eeE R AR T
o5 wen & s fim ot aies = EeeER

frmmm @A s A 3ol = oapE R
12. P(G N T) R soa # 7
(a)
(b)
(c)

Lalds LAl Lajks e—

(d)
13. P(GT) s s & 7
(2)
(b)
(c)

ST [P | [P | X

@
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114. P(T|G) fomi mome # 7
@ 5
® 1
© 3
@ 3

wa fm 03 vt % fan Feafafen o
(#=1) = firem Fifi

fft v A, woend # feft Sed @
difes #9 F wee i wwee 331% ¥

115, 57 = 6 = witsn & & ¢ s
% a4 1d w1 A 3 TR oS A
dife i ?

(a)
10
® &

© 9

160
@) =9



Consider the following data for the next

three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

Number of | Number of
graduates | nom-graduates
At least
3 years 18 q
experience
Less than
3 years 36 7
experience

Let  be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience.

112. What is P(G N 7) equal to ?

(a)

(b)

(c)

(d)

] Ee LAl Lafkd LAl=

113. What is P(G | T) equal to 7

(a)

()

(c)

(d)

114. What is P(T1G) equal to?

(a)

e

(b)

| —

L

()

I

(d)

Consider the following data for the next
three (03) ilems that follow :

The incidence of suffering from a disease
among workers in an industry has a chance
nf?.ii'}a. -

115, What 15 the probability that exactly
3 out of 6 workers suffer from a
disease 7

® 355
() 37
© I
@ 18

A - SDFR-S-HTM



116. 98 o/ & % mitwn & % 6 wromd
Aol Hewmdmdd ffiaafia 7

(a) 63

64
®) =55
(c) 743

@ =35

117. w8 = & =0 witsn & &% 6 sramd
# % W A W US SR WS 8
fifie 6 7

728
{a) 39

2R

(b)

2]
oA
e

()

g

g2

(d)
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wwt dm (03) wet & fou Feafafaa
arEwal-gea 9 faw $ifaw .

= 0-20

2040

460

6i0-80

F0- 1 (kk

wrraTTA | 17

Ptyq

i

p—3g

19

e aHEEar 120% | v S0 # |

NS, pEHA TR 7

(a) 25
(b) 26
(c) 27

(d) 28

119, g & " W & 7

(a) 1
(b) 2
) 3
@ 4

120. 7f% W wen it AT T W 9
W, T A e 7

(a) 25
(b) 50
(c) 75
(d) 100



116. What 15 the probability that no one
out of 6 workers suffers from a

digense 7

(a)

(b)

(c)

(d)

117. What is the probability that at least
one out of 6 workers suffer from a

i
729

disease 7

(a)

(b)

(e)

(d)

728
T29

41

Consider the following frequency distni-
bution for the next three (03) items that

follow :
Class 020 | 20-40 | 40-60 | 60-80 | BO-100
Freguemey | 17 |p+g| 32 |p-3g]| 19

The total frequency is 120, The mean is 50.

118. What is the value of p 7

(a) 25
(b) 26
(€) 27
(d) 28

119. What is the value of g 7

() 1
(b) 2
{c) 3
(d) 4

120, If the frequency of each class is

doubled,

mean 7
{a) 25

(k) 50
c) 75

(d) 100

then what would be the

A - SDFR-5-HTM
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SPACE FOR ROUGH WORK

43 A - SDFR-S5-HTM



SDFR-5-HTM - A

we ww W fig Wy



SPACE FOR ROUGH WORK

45 A -~ SDFR-S-HTM



SDFR-5-HTM - A

wea W W fan W



SPACE FOR ROUGH WORK

47 A - SDFR-S5-HTM



J « A A j 1
b QA EXANM {20

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50

T.B.C. : SDFR-S-HTM Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

2,

.
1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU .SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Flease note that it is the candidate’s responsibility to encode and 0l in the Holl Number and
Test Booklet Series A, B, C or D carefully and withouwt any omission or dizcrepancy at the
appropriste places in the OMR Answer Sheet Any omission/discrepancy will render the
Answer Sheet Nable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alengside. DO NOT
write ampthing else on the Test Booklet

This Test Booklet contains 120 items (questions). Each item is prinied both in Hindl and English.
Each item comprises four responscs (answers). You will select the response which you want to
mark on the Answer Sheet. In case you foel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheot provided. See directions
in the Answer Shect.

All items carry oqual marks.

Before you proceed to mark in the Answer Sheet the response (o various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Angwer Sheet and the examination has
concluded, you should hand over 1o the Invigilator only the Answer Sheet. You are permitied to take
away with vou the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

{i) There are four altematives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

{ii) If a candidate gives more than one answer, it will be treated as 3 wrong answer even if one
of the given answers happens to be correct and there will be same penslty as above to that

question.
(iti) I a question is left blank, i.c., no answer is given by the candidate, there will be no penalty
for that gquestion.

_ DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50
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